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2 | BT (M) 600 800
3 | BAEMR 25% 30%
4
5 i A B R ks B A1
6 fli#g () R R LR R
7 400 35% 28% 120% —13%
8 500 30% 33% 120% 27%
9 600 25% 35% — 67%
10 700 20% 33% 120% 80%
11 800 14% 30% 132% —
12 900 9% 29% 128% 27%
13 1,000 4% 25% 126% 67%
14 1,100 2% 20% 110% 89%
15 1,200 0% 18% 100% 80%
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2 | A& (mD 600 500 ®1 0 0 2
3 | flE (F1) 600 800 £2 100 200 3
4 | WHRAK (HRE) 480 90 23 0 100
5 | MEEER (BAM) 15,000 7,000 R4 —100 0
6 | FEHEM (F5/ml) 0.350 0.600
7 | BEBEM (H/%) 40 50
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¥ B$10,$E$2 ~ $G$5,1$2
Z  $B10,$E$2 ~ $G$5,1$2

elCBYT HMER
7 B4 % B$13
I $C4 % B13

fIZBd 2MREERE
7 (B6 * B11 + $B7) * Bl4
™ ($B6 * B11l + $B7) * $B14

1 B10,$E$2 ~$G$5, $12
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7 | ‘LB (BEHFM) 30,591 | 31,185 | 32,670 | 33,561 | 34,452 | 35,640
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B4 +1IF (Bl =& I ! $B1, /K F & ($B2, f# 1 1$B10 ~ $E13,4),
JKEHRE ($D1, fE £ ! $F10 ~ $113,4))

B4 +IF ($B1 = {#i k! $B1, K FE A (B$2, i L ! $B10 ~ $E13,3),
KFERE (B$2, 8 £ | $F10 ~ $113,3))

B4 +1F ($B1 = {# L ! $B1, K EHR& ($B2, i £ | $B10 ~ $E13,4),
KR E ($B2, i L 1$F10 ~ $113,4))

B4 * IF (Bl = f&i k! $B1, K& ($B2, fE L ! $B10 ~ $E13,3),
KEHRE ($B2, fE L 1$F10 ~ $113,3))

B4 * IF ($B1 = f#&i I ! $B1, KR 5 (B2, {E L ! $B10 ~ $E13,4),
KR A (B2, fE L $F10 ~$113,3))

B4 * IF ($B1=f& I !$B1, /K& ($B2, fE L ! $B10 ~ $E13,3),
KR A ($B2, fE 1 1$F10 ~ $113,3))

(1+B4) * IF($B1={& I !$B1, /KEH & (B2, fE L ! $B10 ~ $E13,3),
KR E (B2, fE L !$F10 ~ $113,3))

(1+B4) * IF($B1 = {# L !$B1, /KB ($B2, fE k£ ! $B10 ~ $E13,3),
JKFEHRE ($B2, i L 1 $F10 ~ $113,3))

(1+B4) * IF($B1={& £ !$B1, /KERE ($B2, i L ! $B10 ~ $E13,4),
IKFRE ($B2, fE £ $F10 ~ $113,4))
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(fE 1 1$B6 * /KRS (B2, & L 1$B10~$E11,1) + i £ ! $B7) * B6
(fE L $B6 * /KIS (B2, 1 L !$B10~$E11,2) + fi £ ! $B7) * B6
(fli L 1$B6 * /KEHEE ($B2, il £ !$B10~$E11,1) + {& L ! $B7) * B6
(f& 1 1$B6 * /KEME ($B2, fE £ !$B10~$E11,2) + f# L !$B7) * B6
(fE_E!1$C6 * AKEHRE (B2, f# L !$B10~$E11,1) + fE £ !$C7) * B6
(i £ '$C6 * KB A (B2, & L !$B10~$E11,2) + {# L !1$C7) * B6
(fE £ 1$C6 * /KA ($B2, il L 1 $B10~$E11,1) + {& 1 1 $C7) * B6
(fE £ !1$C6 * /KA ($B2, & L ' $B10 ~$E11,2) + {& - 1 $C7) * B6




